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o RAXHY] B Tg= A 545kgHT} 0.7% S7F2t 549kg
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ST |AZZ|BEZ| © 7 |AZZ2|BZZ| © " |AZZ |BZZ | BAZ | AZ2
SN SHE 69.1| 673 67.0f 68.1| 71.4| 705 731| 736| 746| 71.3] 69.8| 64.2
7 8 H &8 30.9| 327| 33.0| 31.9| 286| 295/ 269 | 264| 254| 287| 302, 358
A ® H| 102 103| 10.7] 95| 109 11.3| 102| 87 92, 7.7/ 11.3] 100
Hgg|Zt & 7.2 77\ 72| 87 700 74| 62| 73| 75 70 62 7.1
0l | 135 147| 15.1| 13.7| 10.7] 10.9| 10.5| 10.3| 88| 139| 128 187

st o A| 146 153] 147 169] 142| 131 162| 121 102| 165 195| 148
o | 52| 48] 67 04| 47 69| 04] 47| 65 04| 04| 84
o A| 111 125) 117 146) 97| 95| 103| 96| 87| 11.7] 103| 126
AL 27} | 419780( 403940(40,184.0[40.884.0 | 40.908.0[40.884.0[40.940.0[51,84.0351,440.0[52,784.0 | 39,06.04 38,1800
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=1 e H 825 800 A25 M St
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- AZd] 1 (21) 9.7% — (22) 10.7%, (Ad =] 1.0%p 1)
—ZPSH (21) 7.1% — (22) 7.2%, (A4 di¥] 0.1%p 1)
- o] & :(21) 10.3% — (22) 15.1%, (Ad the] 4.8%p 1)
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A el PARGEA A, s TFEA)

o
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Mo 43 oM 1=

A - 22, 124 (9] 2/20kg A, %)
2 = 2 o | He M E 2 7
M AR F JF| 401840 |  67.0
o E8 10,0008~ 700kg~ 53| x 28kg=80.0%
OB B B B 80.0 0.1 - A3 1 5EAE
- 71238 & 72%(XH28kg — HE20)
Cla x w | 760| 13| o027%/kgx28kg-7562
Ml s w| w0 os (70,000+7,000kg) x 28kg=280%
oo 7t A | 41,3000 68.9 | (59,0009 +40kg) x 28kg=41,300(X=)
b = | 28000| 47 |(11,2009-80kg)x20kg=2,800%
m ®m 3 H | 5800| 1.0 | X 580%/20kg
fg 2277488 | 1250| 02 |125%/20kg
% S & H| 8000| 13| 360,000%-450ECH(20kg)=800%/20kg
0| 2| 33%50| 57
B0 7} 7| 49,0000 |  81.8 | 49,0008/20kg(H0])
st & W | 3000| 05 |(1,2008-80kg)x20kg=300%/20kg(AL5HxHH])
S & H| 6000 1.0 |600%/20kg
Sz ® H | 80| 15| MEQXEEM, MMEIE, 27| S
Eoﬁf 2t 2 980 | 02 |7t 0.2%
0| 2| 21200| 35
B0y 7} 7| 530000| 885 | 530009/20kg(40))
72t @ H | 34450| 57 | HEQXEAM|, MMZIE, ol7iH| S
A
o | of 2| 355%0| 58
A
B0 7} 2| 60,0000 | 100.0 | 60,0009/20kg(40])
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(29| = 21/20kg XIch, %)

7 2 2 o H 2 M E 27
M AR 2 Jb | 40,8840 | 681
o E4f 10,0008 -+-700kg-53| x 28kg=80.0%
T A X H 80.0 0.1 - AESl 1 1 53ME
A - JIB4S 1 O 72%(EZ28kg — HE20)
I
Ao|lA = 756.0 13| ©279/kgx28kg=756%
e & Y 280.0 0.5 | (70,000%+7,000kg) x 28kg=280%
ooy 7b ZH | 42,0000 |  70.0 | (60,0009--40kg)x 28kg=42,0002(EZ)
2} & 2,800.0 4.7 | (11,2008+80kg) x 20kg=2,800%
S & x o 580.0 | 1.0 | X/t 5802/20kg
=2 |
af
o | 2BIIIIMER 125.0 0.2 | 1258/20kg
Ble & 800.0 1.3 | 360,000% 450 CH(20kg)=8008/20kg
i1
2|
x | Ol 2 4,695.0 7.8
ooy 7 A | 510000| 850 | 51,000%/20kg(tHa])
S8+ & 2 255.0 0.4 | Y7te] 05% 4=
(o] ru
=
ME[ | ® O 7t H | 512550| 854 | 51,255%/20kg(2n))
s | 2 B o 5,247.0 8.7 | HLRYSXH|, QIZiH|, HABZ S
Lt
2 | o 2 3,498.0 5.9
of
E |lm of 70 | 600000 100.0 |60,000%/20kg(tH0])
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2 eHE PARGBA AL, TS FF=AR)

o
—_

Mo 43 oM 1=

(29| = 21/20kg XIch, %)

T = Z o Hl & Az a7
BN EPN B I 40,884.0 705
o £t 10,0008 +700kg+53|x 28kg=80.0¢
M2z ¥ M H 80.0 0.1 - A3 14 53N
- 71E48 ¢ & 72%(XZ28kg — HT20)
“ a E H| 756.0 1.3 | ©279/kgx28kg=756¥
o 2 & H| 280.0 0.5 | (70,000%--7,000kg) x 28kg=2802
ooy JF A# | 42,0000 72.4 | (60,00094+40kg) x 28kg=42,00094(x2)
7t = H| 3,000.0 5.2 | (12,0008 +80kg) x20kg=3,000%
pr S S - | 600.0 1.0 | XIcH 600&/20kg
; ERVNIAMNER 125.0 0.2 | 125%/20kg
% e & 690.0 12 | 310,008+ 4502 H(20kg)=690%/20kg
ol w 2,085.0 3.6
ooy 7t A | 48500.0 83.6 | 48,5002/20kg(ti0])
5t xt H 300.0 0.5 | (1,200%+80kg) x 20kg=3002/20kg(AI5IxH])
2 =) H| 600.0 1.0 | 600%/20kg
| g H 873.0 1.5 | BERAEH], HMMlSDE, QidHl S
Eoﬁf z =] 97.0 0.2 | 7719 0.2%
ol w 2,130.0 3.7
ooy 7t A | 525000 90.5 | 52,500/20kg(=40])
<t H H 34125 5.9 | EEFX|H2H|, MM3I=E, 2H &
A
of | O 2 2,087.5 3.6
At
) o™ of 7t # | 580000 100.0 | 58,000€/20kg(40])




2 5EE ARG AL, 58 StUETIE)

A 22 124 (E19] : 2/20kg AICH, %)
T = =l H AE 27
S N = 40,940.0 73.1
o E84 10,0002 +700kg+53]x 28kg=80.0¢
T A X H 80.0 0.1 - N8BSl 1 1d 53AE
4 - 71848 ¢ % 72%(ZEH28kg — HH20)
AI_|-
7 ES H 700.0 1.3 | 027%/kgx28kg=756%
Af
2 & H 280.0 0.5 | (70,0002+7,000kg) x 28kg=280¢!
oo 7 A 42,000.0 75.0 | (60,000%-+-40kg) x 28kg=42,000 (==
7t Z H 3,000.0 5.4 | (12,0008 +80kg) x 20kg=3,000¥
S
S S I I 600.0 1.1 | XIcH 60094/20kg
0|
o | B2IIANEE 125.0 0.2 | 125%/20kg
gl & H 690.0 1.2 | 310,000%+450%CH(20kg)=690%/20kg
S|
=g ) 3.585.0 6.4
Jg
oo 7 A 50,000.0 |  89.3 | 50,000%/20kg(HO])
S8 | & =3 2 250.0 0.4 | HY7Le 0.5% 4%
(o] i
2=
Mg | H oo 7 A 50,250.0 | 89.7 | 50,250%/20kg(e4O])
st | ¢ | H 3,450.0 6.2 | HERERAH|, 21AH|, MMSIE S
Lt
2 |0 2 2,300.0 4.1
at
Elm m 7 F 56,000.0 | 100.0 | 56,00094/20kg(240])
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A 7518 BAREE - A8, FAT FF=AR)
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o
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Mo 43 oM 1=

(TH2 : §1/20kg XICH, %)
T g 2 o Hl & Az 2
INIPNSE S I 51,440.0 74.6
o EHf 10,0008 +700kg+53] x 28kg=80.0¢
M|l Z X X H 80.0 0.1 - A8l 1 b3AM8
- 71248 1 O 72%(X228kg — HE20)
o v E H] 700.0 1.0 | ©278/kgx28kg=756%
o 2 & H| 280.0 0.4 | (70,000 --7,000kg) x 28kg=280%
oo 7 A | 525000 76.1 | (75,00094+40kg) x 28kg=52,50094(X2)
7t = H| 3,000.0 4.3 | (12,000&--80kg) x 20kg=3,000¢
Er S SV I = 580.0 0.8 | XIt§ 5802/20kg
5| E2R77INez 125.0 0.2 | 125%/20kg
% 2 & H| 555.0 0.8 | 250,0002 450X CH(20kg)=555/20kg
ol 2 1,740.0 2.5
o oy 7t A | 585000 84.7 | 58,5002/20kg(#40])
5t &t H 300.0 0.4 | (1,200--80kg) x 20kg=300%!/20kg(A5IxH])
2 & H| 600.0 0.9 | 600%/20kg
=zt H B 1,053.0 15 | MEQX|ZEH|, MMZIZ, o1Z4H| £
iljr il =] 117.0 0.2 | #27t9l 0.2%
ol @ 2,430.0 35
o ooy 7 A | 630000 91.2 | 63,0002/20kg(40])
Zt g H 4,095.0 5.9 | HERX[H2H|, MAMSIE, 2Hl &
A
Eﬁ ol @ 1,905.0 2.9
Jg
o oy 7t A | 690000 100.0 | 69,00084/20kg(E40])
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A : 722, 12¢

A vl SAREE — Ag,
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58 shente)

(29| = 21/20kg XIch, %)

- =2 2 A4 [ HE A E Z 7
Mo X F 7| 52,7840 | 713
o &4 10,0008 +700kg--53| x 28kg=80.02
a | 2 M 4 80.0 0.1 - AI2314 1 53AR
© - 7838 ¢ Y 72%(E528kg — H520)
AI_|-
2 S H] 756.0 1.0 | ©27¢/kgx28kg=756%
At
2 = H] 280.0 | 0.4 | (70,000%-+7,000kg) x 28kg=280%
ooy 7b A | 53,900.0 | 72.8 | (77,00094-40kg) x 28kg=53,900%4(= =)
7t 3 H | 3,000.0 | 4.1 | (12,000%-+80kg)x20kg=3,000¢
S|m ® X u | 5800 08| Xch5802/20kg
oj
o | ERVIVIMER 1250 | 0.2 | 125%/20kg
gle 2 H| 555.0 | 0.8 | 250,000%--450ZCH(20kg)=555%/20kg
X
1o 2 6,840.0 | 9.2
é}. I s y . .
o ooy 7t Z | 650000 | 87.9 | 65000%/20kg(t0])
58| = = 325.0 0.4 | OHRI7Ie) 0.5% £&
e
=
ME{| = Of Jb Z | 653250 | 8383 | 65325%/20kg(EH0])
st | <t s H 5,205.0 7.0 | FERIRAM|, 2lH|, MMEU= S
Lt
2 | 0 = 3,470.0 4.7
af
E = oy 7t Z# | 74000.0 | 100.0 | 74,000%/20kg(EH0])
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A vl SAlREHS — AL

A : 722, 12¢

1=

58 shente)

Mo 43 oM

(29| = 21/20kg XIch, %)

e = = 9 H 2 4= 2 7
M A XA F T | 39,0640 | 69.9
o £ 10,0002 +700kg--53] x 28kg=80.0%
M | 2 M H 80.0 0.1 - A3l 14 53N
° - JkmAS ¢ O 729%(ED28kg — FT0)
AI_I-
A =y 756.0 14 | ©279/kgx28kg=756%
N
2 & 280.0 0.5 | (70,000%+7,000kg) x 28kg=280%
oo JF A | 40,180.0 | 71.8 | (57,400--40kg)x 28kg=40,180%(=2)
b2 H | 37500 6.7 | (15,000%+80kg) x20kg=3,750%
Sl = m M B | 5500| 10| XIh5502/20kg
|
o | ER7IIANEE 125.0 0.2 | 125%/20kg
gle2 & 550.0 1.0 | 250,000%+450ZLH(20kg)=555%/20kg
i1
2|
x| Ol 2 | 48450 8.7
oo b ZH | 50,0000 | 89.4 | 50,0009/20kg(H0])
s8]l & x oz 250.0 0.4 | oH7tol 0.5% 4%
(] arul
OO
ME| | B0 7b 2| 50,2500 | 89.8 | 50,250%/20kg(#0))
s | 2 " H | 34500 6.2 | NLSHQXH|, OI7iH|, HMZ1Z S
Lt
2 | o 2 | 23000 4.0
of
Elm o 71 7| 560000 | 100.0 | 56,0008/20kg(4D])
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A FeHlE BAIRCGEE — AL, A

(29| = 21/20kg XIch, %)

+ 2 = o Hl & A E 2 7
M A Z = F JH | 38,180.0 64.2
o £t 10,0008 --700kg-+53| x 28kg=80.0%
I B SRS SN, B 80.0 01] - AR3IA : 14 bEAR
- 71248 1 9 72%(X228kg — HT20)
“ el B H| 700.0 1.2 | 027¥/kgx28kg=756%
o 2 & H 240.0 0.4 | (70,000€--7,000kg) x 28kg=280%!
oo 7 Z | 39,200.0 65.9 | (56,00094+40kg) x 28kg=39,200 (X2
7t = H 2,500.0 4.2 | (10,0002 +80kg) x20kg=2,500&
T X X 550.0 0.9 | 5502(20kgX|cH)
fa ER77IAER 125.0 0.2 | 125%/20kg
% 2 & H 770.0 1.3 | 350,000-+-450%LH(20kg)=7772/20kg
0l 2 | 3855.0 6.5
o ooy 7 Z | 47,0000 79.0 | 47,000%/20kg(2t0])
ot Rt H 300.0 0.5 | (1,200-+80kg) x 20kg=3008/20kg(AIGEXH])
2 & H 600.0 1.0 | 600%/20kg
Lozt g H 846.0 1.4 | BERAEH], HMSDE, QdHl S
21 o =l 94.0 0.2 | #8712 0.2%
0l 2 | 3,160.0 5.3
o o 7t 4| 52,000.0 87.4 | 52,000%/20kg(#40])
Z = Hl | 3,380.0 5.7 | MEQX|H2H|, MMSLE, 27t §
Eﬁ 0| 2 | 41200 6.9
Y
oo JF A | 59,500.0 | 100.0 | 59,500%/20kg(HH])
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